R3EH A bvx BHILAE BREELF LHFEERER
AR - AR - Bk B B iy
=R RN
1. B T
(1) B
SIS RAN T (B g AT ) v 1. 000
8 R TR (AP LFANLR) AL g ohem | B 1000
WE b 722 (% MERR) OT;:,Z AC?(%V/%%%%{E A 1. 000
E R T A GRAED) AL g ohem | B 1. 000
8 R T A (HTER) AL e | B 1000
it 7% G AL g ohem | B 1000
K R L (BEaR AR E) v 1. 000
T—H—YA L (B gcggvé(&)ﬁ%gd) 7 #* 1. 000
T —YA L (B HERF) gcggvé(&)ﬁ%gd) 7 #* 1. 000
s Ly GRREERT) PO s D 1.000
Ty A L (EITER) PO s D 1000
s Ly (GEESER) PO s D 1..000
UKt Et HE TR ¢ 800 = 1. 000
ANV Sl e1a BRI ERT ¢ 250 v 1. 000
T DOFRAG L (BE2s AR v 1. 000
s B B J;%g?)in\lj%wo. 6m > H2. Om i e
[EXEEN % MESETTE $SEI)
1. #BfFL LA
(1) 3222 L
Mt b7 A (P LWARALR) X - 0% T B 1. 000
Mg b7 2 (B8 tEWR) RiE-FEL = 1. 000
e~ 7 2 GRAEWR) RiE- gL = 1. 000

1/3




R3EH Abvx

S

/

BRI L LFaEhRiER

TAE - FER - AR ok HLAZ Kok i =
M b7 A (BILERR) BE-HET 2y 1.000
M &7 2 GEEERR) HE-RET X 1.000
(2) KE BB T
T =Y A L (FEBD BE-HET = 1.000
T A Ly (B WMERF) RRE- L = 1.000
FT—H VA L RREHRR) RE-HELT = 1.000
FT—H VA L (ETERR) RE-HEL = 1.000
FT—H VA L GLEEHRR) RE-HELT = 1.000
TN et e B e 1 - A T LS 1. 000
UK R E - R T LS 1. 000
Z O AR T R iE - %) v 1. 000
. WET
(1) 32 2= L
M &7 o A GH LKA R) it T X 1.000
e b7 v 2 (% MEHRR) ik L v 1. 000
M &7 > X REERR) ik T 2y 1.000
M b7 > A (BTSSR R) ik T X 1.000
M ~ 7 o A2 CGEEEHR) fits T X 1.000
(2) KE BB T
T—H A L CEER) MEL 2o 1.000
LA L (B MR MET By 1. 000
FT—H =Y A L RRERR) MEL 2V 1.000
T H— YA Lo (IR s T eV 1.000
FT—H YA L GEEERR) AT X 1.000
Tt it w2 T X 1.000

2/3




BILA

e f= 2

R3EH A bh=x Bkl L9 TR ERiEE
TR - AR - A0 ok HLAZ Kok i =
TiEA AR T 2y 1.000
BUKTERHEE T X 1.000
3. [EHERE
(1) #eEHER T
A I RS T v 1. 000
4. PEBEIL Y HE
(L)%
VU ¢ 2y 1.000
VU ¢ eE< T ton 1. 400
(2)E gt
R 2y 1.000
kA (A SUE1E ) 1. 4ton X 1.000

3/3




